Em BCM2EngC101x seatNo: o WU Y6
| B.Com. Semester - 2 (CBCS) Examination

| March/April -2019 (New Course)

| English Language -2 (CORE)

Time- 2
+ 2:30 Hours '
lnstructions: -
1. ?-” questions are compulsory.
* Flgures to the right indicate marks.

~——

Q‘](A) Fill in the blanks with appropriatc modal auxiliary verbs. (Any five) (05)
(i) Mcenakshi speak German. (may, can, will)
(i) I leave class early? (may, can, will)
(iii) 1 wash the clothes if you agree to dry them. (can, may, will)
(iv) —_ Yyou please take off your hat? (could, would, can)
) I call a doctor for you? (will, shall, could)
(i) I play guitar. (shall, can, should)
(vii)You take some medicine for that cough. (can, must, may)
Q1(B) Identify the type of sentences given bellow. (Any five) (05)

(Declarative, interrogative, imperative, exclamatory.)

(1) When are you going to submit your assignment?
(i) Itistoo dangerous to climb that mountain!
(iif) What is your name, Mr.Parekh?
(iv) Yanny is really a good dancer.
(v) What a beautiful flower!
(vi) You have to work hard to pass the exam.
(vii)Open the door.
QI(C)  Fill in the blanks with appropriate conjuctions. (Any five) (05)
(i) Salman had died his son came. (after, before)
(i) I like both English Hindi. (or, and)
(iii) Don’t go out he instruts you. (till, until)
(iv) She acted She were Shridevi. (as, as if)
(v) Ramesh went there meet Juhi (as, in order to)
(vi) Ilove English he does. (so, and)
(vii) I saw the tiger, I ran away. (hardly when, as soon as.
Q.1(D) Fill in the blanks with appropriate concord. (Any five) (05)
(i) All clothes red in colour. (is, are)
‘ (ii) Thisnews____ bad. (are, is)
{ , (iii) My friend Rani always _____lies. (tell, tells)
(iv) The girl who wears black sari my cousion. (are, is)
\ (v) Halfoffruits__ fresh. (was, were)
(vi) Rhythm with his family here (is, are)
(vii)Most of the vagitables for sell been not fresh. (has, have)
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(10)
i ing. (Any one) o
Q.2(A)  Write a letter from the following. ( ' slon.fo 1ot
(i) Your college arranges a study tour, Write a letter to your father asking permission to join the
tour. )
: lege, Write a lette
(ii) You have recently finishied ten days NSS special camp of your colleg T to
brother about your experience in the camp.

Q2(B) Write a paragraph on the following topics. (Any one)

(10)
(i) 1love my India.
(ii) Use and misuse of mobile phone.
Q3(A) Answer the following questions in one line. (Any six) 06)

(i) What is daffodil?

(ii) Who is Satan’s second — in — command?

(iii) Which industry is Azim Premji a pioneer?

(iv) What does the sun symbolize in the poem “To Daffodils”?

(v) What was Gandhiji’s elixies of growth?

(vi) What is the full form of DEIT?

(vii)How many pillers have been identified as a part of Digital India programme?
Q.3(B)  Answer the following questions briefly. (Any three) (09)

(i) What are the only decoration in Gandhiji’s hut and why?

(ii) What is the Wipro way?

(i) Write briefly about the qualities of Daffodils.

(iv) Why does the speaker feel its miserable to be weak?

(v) Explain the ‘Gipsey’ reference in the poem ‘on fame’.
Q4 Write a short note on the following topics. (Any two) (15)
(i) E-—Kranti

(ii) Mahatma Gandhi

(iii) Central idea of the poem “On fame”,

ook ok koo ok ok s ok s ok o sk o
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Instryctions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

——

UHR, W€l WA Asllsict eUoel 2:2:1 ol UHIQHL ot§l WA ofsilot a2l 26U B. cll.31/12/2017  (20)

Ui
YOl AMe] W§ AAY o[lA Y &d.
ysleal 3 Aesd At 3
Y wR 3,00,000 | wesl 80,000
aL€lal 2,50,000 | %ot Uslol 3,60,000
aallsid 2,00,000 | a2 4,00,000
ol,a]. Wid. 60,000 | s6TAR 80,000
AHLA AoltH 50,000 | AsL3N 70,000
d@se &s 60,000 | 215 1,50,000
10% WHR ot 1,00,000 | EAUELRL 1,00,000
ols AlcRgls2 70,000 | GULE: UL, BollHcl 4,000 96,000
AQLELR 70,000 | As$ ‘ 64,000
YR eiSlo:
oot Hslel 60,000
A 60,000
slAuR 20,000 1,40,000
13,00,000 13,00,000

dl1 el stoageudl, 20186 eolleldl AAR 20zt suoll @l FuictRet srawl 2ucll &l

Suollal sl A Ass Aat oiell AuUR el ocll. 2t &g 1R Retsdle] Yot Heisat 1A yuld

sl A &d.

(1) arllot U Hsletoll Brcui 3.4,00,000 Yl a2l &3,
(2) slTARe] HEA 3.60,000 QLML AL,
(3) Wsell Frcni 3.20,00001 ctiR sl
(4) BLELR UR 10% AR UAUIY Bolttictoll AoLcus $3A.

(5) vt Retsdl QU3 BH Acuni A B.
(6) Aol wedl deatl A cell 32l otgl scl otgll owaiell. Beett 2w adell 3.10,000

AHLRL Aol LA @8 o1 uedlell o8l AUefsR 3.40,000, 3.80,000 Ao\ 3.60,000 &l
(7) $uelld wRell ot Rclizioll oitll waerdl2 il ol el Ast Husllell 10% ol

Baeu audla Ysa sraumi utdl.

(8) watélaR A5l 3.60,0000(l (Fua llstdl.

(9) @Qatesat w3 3.24,000, B ALlsicl gl Ysacttui el Al

(10) 5UcllA 3100 A5 Nt 60,000 SEAA A2 €25 3.140il A A clgl 283 Assul Ysll.
Suoll wAell Y et AA AWELELRA A AMotl otslejslototl YHIRHL adudl.

leti QU3 33| vttt AR 52,
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wser auste Rl U @at cd(letd 5:3:20l Yl @l U ofglel aBU AU B, 3170372017 @2

vadl

Ryl Aue W wRAY oA ywu B.
yétan 3. Aasd AL ﬁ
3 A5 75,000 ogillot el Uslol 1,28,000
' 60,0

el 45,000 A 00
12,000

@t 65,000 | 1,85,000 | AW
AQERL 45,000 | QglgSl 5,200
2§l 6,500 | ¥\ 9,000
ysaalel olél wa 500 | A5S A A8 12,800
Ui elsla 5,000 | %@ GUAS vilg 15,000
2,42,000 2,42,000

AAlA a2y, «lAell 22A U2 2% @R AucHl A B.
(1) Retsle] Yetryeliset: Hallotdl 3.80,000, 5 312,000 %Hlot Wl st 3.62,800.

(2) Ao Al (Ass A AN RActt) A wUAEIRL AU EHd dugenHl 2udet 8.
(3) suell wusdl V2 3.40,000 Ysaal AR B.

(4) $ucllR wile Bud A2 31000 As Aclt 10,000 BEALL A2 A sl BH AsSHL Ysell

(5) GRERA AsLAN 3.10,000H1 A 7,000 BEAZ AR 31261 eld AL Aa cltslatl A3, A

AMell o8l B efslotoll YHIQHL §R @ dRLL

dauR 5 () HEARAsA Wi (o) AWBLERH 48l vicl (5) Ass A s v,

Usl-2  cll.31/03 /201801l A% Mot olurle] Wi UA (A Yot B.

yslEen 3. Masd Aal 3.

sk M lot B Hslot 1,80,000

Yy 1,50,000 A=A 1,20,000

o 1,10,000 2,60,000 | @S 1,10,000
51012 otsl @ldL eisla 10,000 | EdlELRL 85,000
LR and? eidln 15,000 | GULE: UlEAUY 5,000
os Alet 2,00,000 80,000

ARERL 25,000 | GULE: ®l, BotiHd 10,000 70,000

sl 10,000 | A5 (122 ($.3. 40,000) 30,000

Ass wa As 10,000

5,20,000 5,20,000

cL.01/04 /201841l A% Halclrl @RSl rauet AR A del wilEl Qe srau] 2
Boll Urllalk UYL 3.5,00,00040 B. B €35 3.10001l 86AZ] Al cFARACA B, ol Aol g2 UR

QEloll Ul Wlél Qo e,

(1) AW} ealdc ot UN UsLetell Bu oo (U 52l 10

oostR (el 10% aud @,

(2) waslell Bud dectt Wiy ceg § otglotl 1/5 @atell o

3.50,000 &dl.

(3) ECUER UR 10% QR UCAVIY el ef] BLLaE 5

(4) suellA ttuell wlle Bud W 2,500 gEa)
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UN-2

YH-3

Yyg-3

o8l M Assul Ysell,

(5) $UellR cttsletl AR MR ot 3.1204l e1Q

SUslletl QUY WA A WA wi ARAY AR 53,
AU

A.31/03/2018etl A% Ad-§U yuz]

o4 W 44y ol yopeq B,

A:AL6 3.80 eL2uie AN olelR uLsYL,

L ydlta 3. Resddu 3,

yst @d  3,30,000 Hslot 3,96,000

$U  2,42,000 | '5,72,000 | 2N 2,64,000

SRR etsL QoL §s 22,000 | A5 (ot.[.3.88,000) 66,000

SRR AndR §s 33,000 | X5 2,42,000
ds At 4,40,000 | EaleR 1,87,000
QuEIR 55,000 | GlLE: ULy 11,000
ecllgsl 22,000 1,76,000

GLE: Ul AellH L 22,000 | 1,54,000

UG YsAct v 5,500

Ass 16,500

L 11,44,000 11,44,000

cAl1/04/2018el A% 20 AN ARAsell euuetl s2cuni i, Foll AdlelR AUt 11,000
86Q2l A €35 310040 B. 5UR Guilsd Aot Aletell @A Aol w2 AR Wil L,
(1) AW elAet HStetoll Bt wmz Bud s2di 10% Al 8. A2 WAsell Bud wn
Budell 10 au d
(2) BAERA WR 0% AN UlEUILL Bottictell RoLeus 531,
(3) 5uellA tituell wile Bud U2 5,280 8EAL A3 £33 3100 ¥4 3.1,03,400 AssHi Yscl.
(4) $ucllA oot A2 N2 ot A2€l6 312001 A G612 LS,
SUelotl AWUB UHAY Ll WA W w283 ez 53,
X Y ua z As Wlotl aollel B, Rollej otgl-ofsilols] Yyl UegsA 2:2:1 B, AN 1l yeus
2001eil A% 3.8,00,0000{l UYst Yoot @Qul WA el Bef s @allan 3.25,0004 B.
Wellalloll &d 10 ad B. 13l W, 20040t Ao z ey w2l WA €16 1830 AYlet, 20040l
Uit 2l &l Nloti Wust €2 a¥l 311 BRactredl Ao oit e . W@ 2al et oA yarey

8.

oy Al yeu

2001 9o
2002 YsAd set YIMaAHet 10%
2003 Y5Ad et YRt 20%

UYset Petet cflit WA vtd A ARyset oot Qut VA 2eiind uld dar s3.
U cll
A sl B AU YHIQMI oAdl-of5lel aZUcl elolletd B, AR 1ell %el, 20011l A% 3.1,00,0004(l
WYset elot Qe Q@AM 12 af yeoll llell. Bef culls Raflany 3.10,0009] 8. dl12 oL,
200301l 2% B e ULAL AN €L 18 U102, 200301l Yt &l &cll. Uloti Aust €2 ail 31l

BRooweti Aoy ol ur B,
AR QR4 (a) 134l Wl uA (b) Y3l wal 3 olltalti] A B A HHYA oA V.
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yi-4

U#-4

i gl slley selole] WA
dL3t RRueR, 20186l YRU Ul afef AL 30y 5EUe]

WS
gl LA Gl
AU 2017 2,000
2018 10,500
2019 600
g §l
Elet

s wMizetell s
wadle] Quugl

yuad

Wletle] GiL§

3.
5,000

13,100
1,200
1,800
8,000

350
5,250
300

ooy vl oA el .
LEE

T

uYRA wal

guR (dL1.7.18)
saGs GRR

WUk

ol ud Raetdl

Y8l
1Mol Akl (1.10.18)

NEELS
s ameta Wil

ogl AL @8 AU

35,000

2,000

3.

4,000
6,000
1,400

800
2,500
4,000

100
6,200
8,000

35,000

dL31/12/20170t Aesell otdlall: glluR 35,000,

alr 3.3,000, Ysaial oiél uRyRRL Wl 3.500, 10% Rsu Rl 3.5,000.

atReell @ate:

(1) uRyQ wall-ysaal oiél 31,200 sl UG YsAH 3.600.
(2) Aciesi-uacl ciél 3.800 U G HAE 3.600.
(3) ¢z wUA ctoll Alkol U2 Ul 107 AR BRUA G

(4) wustll et gl 4Slsd B.

201Gl HAE EAall®M 3.1,500, Hael wiél

Guzell Rt uRell dll.31/12/180t YU Ul ale] Guas-uid wig An wh 4239 durR

53

dL.31/12/20176ll A Y2l Uctl o] W U

AUyl
Asecl 2] Ulh 4283 Axy vlas-as uilg oA Yo 8.

ydltcu 3. Retsdaau 3
ysl eisla 35,000 | glluR 10,000
uslot eisla 12,000 | ucloll Altioll 15,000
goltill §s 5,000 | clisl cdcigH 2,500
UUG HAA AcllorH 3,000 | 10% Bott{l §Sotl A5G 4,500
ysadl otdl Wl 1,000 | Ass 24,000

56,000 56,000
3l BRietz, 2018t ya1 ucll o¥oj lcls-ocls Wl

B s 3. oncts

wis] AR ezl 24,000 | uRYRQ Wy j .200

AcltrH 18,000 | 8602 (clL.1.7.18) 14'000

gt 4l 4,000 | WAR 6'000
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Elot 6,000 | SWHG A Rt 1,400
WU 4l 5,500 | RUclell wul 3,300
BollH §Setl A5G} cllos 450 | QR 4,000
Wdle] Qg N 350 | ol wal 8,800
U cloll Alolle] ARG ot Qe 1,000

(4o (Exd 3.5,000) 4,200

Ulotle] eiLg 1,200
Hslol M2 URSIRe] WajElol 8,000 | Citsl 2L &8 a2l 29,000
71,700 71,700

atRlell [Qot-

(1) Haal cltsl Gl 3.2,000 ual AUUGL HAA 3.1,000.
(2) Ysaal oitsl uRyeL wl 3.1,500.
(3) slTaR U2 alls 10% AW YU 231,
Gurell ot urell cl.31/12/186tl YU aUcl atlef Gus-v vl Axe Wi UAY dauR
53,
ENGLISH VERSION

Que-1  Amar, Jagadish and Shashikant are partners sharing profit and loss in the proportion of 2 : 2 : 1. Their (20)
Balance Shect as on 31.12.2017 is as follows:

Liabilities Rs. Assets Rs.
Capital: Amar 3,00,000 | Goodwill 80,000
Jagdish 2,50,000 | Land-Building 3,60,000
Shashikant 2,00,000 | Machinery 4,00,000
Profit and Loss A/c 60,000 | Furniture 80,000
General Reserve 50,000 | Investments 70,000
Provident Fund 60,000 | Stock 1,50,000
10% Amar’s Loan 1,00,000 | Debtors 1,00,000
Bank Overdraft 70,000 | Less: B.D.R. 4.000 96,000
Creditors 70,000 | Cash 64,000
Depreciation Fund:
Land-Building 60,000
Machinery 60,000
Furniture 20,000 1,40,000
13,00,000 13,00,000

On 1* January, 2018 parmcrshlp firm was converted into Ojas Co. Ltd. Company took over all
the assets except investment and cash. For this purpose revaluation of assets was made as follows:
(1) Value of land and building is to be increased up to Rs. 4,00,000.
(2) Furniture is valued at Rs. 60,000.
(3) Value of stock to be increased by Rs. 20,000.
(4) Provide 10% reserve for bad-debts on debtors.

(5) Other assets are to be taken at their book valye.
(6) Goodwill of the firm is valued at double than the average profit of the last three years.

Profit for the last three years after taking Rs. 10,000 to general reserve was Rs. 40,000, Rs.

80,000 and Rs. 60,000 respectively.

(7) Company took over all the liabilities except the loan of Amar Loan of Amar is to be paid by

giving 10% debentures of the company.

(8) Jagdish took over the investments at Rs. 60,000.

(9) Dissolution expenses were Rs. 24,000, which was paid by Shashikant.

(10) Company gave 60,000 equity shares of Rs. 10 each at Rs. 14 and remaining amount in
cash. Partners distributed the shares received from the company in their profit sharing
ratio.

Prepare necessary accounts in the books of the firm.
OR
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Que-l

Que-2

Que-2

N i i :3: 2. Thei
Aakash. Murali and Binn are partners sharing profit and loss in the ratio of 5 heir balance (20)

sheet as on 31/3/2017 is as under: = Assets Rs.
Liabilities : 1di 1,28,000
Capital:  Aakash 75,000 Lami ieB’ummg 60,000
Murali 45,000 Macine 12,000
Binn 65,000 1,85,000 Investmcpts > %—-&—\/\q ele 5,2
Creditors 45,000 | Bill Receivable oo
Bills Payable 6,500 | Stock 12’888
Unpaid Expenses 500 | Cash & Bank »
Reserve fund 5,000 | Advertisement Suspense Ale 15,000
242,000 T 2,42,000 2
The Business of firm is sold to Raj Limited on following conditions.
(1) Revaluated assets are Machinery Rs. 80,000, Stock Rs 12,000, Lal.ld & Buﬂdmf Rls{ 621,800.
(2) Other assets (Except cash & Investments) and liabilities to be considered as on book- value.
(3) Company agreed to pay Rs. 40,000 as Goodwill. : L .
(4) Company paid 10,000 Equity shares each of Rs. 10 for purchase price & remaining amount paid
in cash. . : d =
(5) Partners sold investments at Rs. 10,000, and sold 7,000 equity shares at Rs.12and  remaining
shares, they took away at their profit and loss ratio.
Prepare: (a) Realization A/c. (b) Partners' Capital A/c. (c) Cash & Bank Afc.
The following is the Balance Sheet of Manasukh Bros. as on 31/3/2018: 20)
Liabilities Rs. Assets Rs.
Capital Accounts : Land & Building 1,80,000 5
A 1,50,000 Machinery 1,20,000
B 1,10,000 2,60,000 | Stock 1,10,000
Workmen Profit Sharing Fund 10,000 | Debtors 85,000
Workmen Compensation Fund 15,000 | Less: Bad Debts 5.000
Bank Loan 2,00,000 80,000
Creditors 25,000 | Less: B.D.R. 10,000 70,000 b}
Bills Payable 10,000 | Investments (M.V. Rs. 40,000) 30,000
Cash & Bank 10,000
5,20,000 5,20,000
On 1/4/18 Mahavijay Limited was incorporated with an authorized capital of Rs. 5,00,000
divided into Equity Shares of Rs. 100 each to take over the running business of the firm on the
following conditions:
(1) The value of land and building as shown in the books is 10% less than the market and
stock is overvalued by 10%.
(2) The goodwill of the firm is valued at 1/5 of the total profits of the last five years. The
average profit for the last five years was Rs. 50,000,
(3) Debtors are subject to 10% Bad Debts Reserve.,
(4) The purchase consideration is to be satisfied by issuing 2,500 equity shares, Rs. 80 paid
at the rate of Rs. 120 and balance amount in cash. ¢ w it =
(5) The }::ompany has issueq refnaining shares to the public at Rs. 80 paid up for Rs. 120.
. ass necessary entries in the books of the Company and prepare initial Balance Sheet of the
o OR ‘
The follo»}rjpi 1ls tt.he Balance Sheet of Love-Kush Bros. as on 31/3/18: (20)
iabilities Rs. Assets
P Rs.
Capital ki iy Building 3,96,000
S 5 . . 37V,
Workmen Profit Sharing Fund ’;g’ggg ?g:ght’:fnes 2,64,000
Workmen Compensation Fund 33, stments(M.V. Rs. 88,000) 66,000
Bank Loan 3,000 | Stock 2.42.000
: 4,40,000 | Debtors -
Creditors 55,000 | Less: 1,87,000
Bills Payable 22’000 ess: Bad debts i 11,000
’ ' 76,000
Less: BDR o
Prepaid Expenses 22,000 ],5;,288
Cash ’
| 1144000 16,500
. 11,44,000
Page6of 8




Que-3

20,

Que-3

Que-4

0)

On 1/4/18 Shri Ram Ltd. was incorporated with an authorized capital of 11,000 equity sharcs of Rs.
100 cach to take over the running business of the above firm.
Conditions for business purchase:
(1) The value of building as shown in the books is 10% less than market price and stock is
Overvalued by 10%.
(2) Debtors are subject to 10% B.D.R.
(3) The purchase consideration is to be satisfied by issuing 5,280 equity shares of Rs. 100 each fully
paid and Rs. 1,03,400 to be paid in cash.
(4) The company has issued remaining shares to the public at Rs. 120 each.
Pass necessary journal entries for the above transactions in the books of Shri Ram Ltd. and
also prepare initial Balance Sheet of the company.
X, Y and Z are partners of a firm sharing profits and losses in the proportion of 2 : 2 : I respectively. (15)
They took out a Joint Life Policy on Ist July 2001 for Rs. 8,00,000. The yearly premium of Rs.
25,000 payable on 1% July every year. The term of policy is 10 years. Z died on 13" March 2004 and,
the claim was received on 18 April 2004. The books of the firm are closed on 31* December every
year. The Surrender Value of the policy as under:
Year Surrender Value
2001 Nil
2002 10% of total premium paid
2003 20% of total premium paid
Prepare Joint Life Policy A/c and Joint Life Policy Reserve A/c.
OR
A and B sharing profits and losses equally. They took out a Joint Life Policy on 1st June 2001 for Rs. (15)
1,00,000 for 12 years. The annual premium is Rs. 10,000. B died on 12" August 2003 and the claim
was received on 18™ September 2003. The books of the firm are closed on 31st December each year.
Give the necessary journal entries when Joint Life Policy is recorded under:
(a) Revenue Expenses; (b) Capital Expenses.
The following is the Receipts and Payments Account of Shri Shreeji Club for the year ended 31% (15)
December 2018

Receipts Rs. Payments Rs.

To Balance b/d 5,000 | By Sundry Expenses 2,000
To Subscription: 2017 2,000 By Furniture (1.7.18) 4,000
2018 10,500 By Electric Fittings 6,000

2019 __600 13,100 | By Salaries 1,400

To Entrance Fees 1,200 | By Printing and Stationery 800
To Donations 1,800 | By Books 2,500
To Income from Annual Progra. 8,000 | By Sports Equipment (1.10.18) 4,000
To Sales of Old Newspapers 350 | By Postage 100
To Legacy 5,250 | By Exp. of Annual Programme 6,200
To Locker Rent 300 | By Balance c/d 8,000
35,000 35,000

Balance as on 31.12.2017: Furniture Rs. 5,000; Subscription received in advance Rs. 1,500;
Subscription due Rs. 3,000; Outstanding sundry expenses Rs. 500; 10% Fixed deposits Rs. 5,000.
Additional information:

(1) Sundry expenses unpaid Rs. 1,200 and paid in advance Rs. 600.

(2) Subscription outstanding Rs. 800 and received in advance Rs. 600.

(3) Charge the depreciation on furniture and sports equipments at the rate 10% p.a.
(4) Half of the entrance fees capitalized.
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Prepare Income and Expenditure Account for the year ended Rs. 31.12.2018 and Balance

Sheet as on that date.

OR
Que-4  Following are the Balance Sheet and Receipts and Payments Account of Aklavya Trust: - Balance (Is
Sheet as on 31.12.2017
T Assets Rs.
Liabilities Rs.
Capital Fund 35,000 | Furniture 10,000
Building Fund 12,000 | Sports Equipments 15,000
Prize Fund 5,000 | Subscription due 2,500
Advance Subscriptions 3,000 | 10% Prize Fund Investment 4,500
Outstanding Sundry Exp. 1,000 | Cash 24,000
56,000 . 56,000
Receipts and Payments Account for the year ended 31.12.2018
Receipts Rs. Payments Rs.
To Balance b/d 24,000 | By Sundry Expenses 4,200
To Subscription 18,000 | By Furniture (1.7.18) 14,000
To Entrance Fees 4,000 | By Salaries 6,000
To Donations 6,000 | By Printing and Stationery 1,400
To Sports Fees 5,500 | By Sports Expenses 3,300
To Interest on Prize Fund By Postage 4,000
- Investments 450 | By Insurance 8,800
To Sales of Old Newspapers 350 | By Prize Awarded 1,000
To Sales of Sports Equipments
(Cost Rs. 5,000) 4,200
To Locker Rent 1,200
To Govt. Grant For Building 8,000 | By Balance ¢/d 29,000
71,700 71,700

Additional information:
(1) Subscription Receivable Rs. 2,000 and Received in advance Rs. 1,000.
(2) Sundry expenses outstanding Rs. 1,500.
(3) Charge the depreciation on furniture @ 10% p.a.
Prepare Income and Expenditure Account for the year ended Rs. 31.12
.31.12.20
Sheet as on that date. S D Slance
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B.Com. Semester - 2 (CBCS) Examination
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Business Organisation & Management-2 (CORE)
Time: 2:30 Hours Marks: 70

Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

UH-1

-2

YH-3

YH-3
Uad-¥

UH-Y¥

Que-1

Que-1

Que-2

Que-2

Que-3

Que-3
Que-4

Que-4

() [elllsel AA 92 et el wl, (10)

(6) HBAL ARA UaAUAL Yra URWA U, _ (10)
Ul

() Aactetl (Aglellsglo] Hecet A RAulells0t0ll ugRl ul. (10)

(o) MR cllRiuRell ugl esouda. (10)

() YRGUeAl HREAlA [Raun YA, (10)

(o) %& dUQelletdl Rz g7 Aol waUs decll UM (10)
ULl

(1) Yeuell A 2], Y6uell el ual sl (10)

(A1) AR UUR Sl R URGUAA 22l 52 (10)

daesla vigaell ued que 531 dett catel atal Hdlesls Ratdl seudl. ()
By el

datctsla vigaeott ustA ual QR0 w4l 53, (W)

Geuleet We@ 9?7 Geuledtall catBlloll [Arqgd ul 53l ()
el

Ao AeA 9?7 Acltoll Atat@scux 24l (a)

ENGLISH VERSION

(A) What is decision — making? Discuss its characteristics. (10

(B) Discuss in detail the obstruction of commlg}i{cation. (10)

(A) Make clear the importance of decision — making in management, discuss the methods of (10)

decision making.

(B) State the methods of communication. (10)

(A) Explain motivation theory of Maslow. (10)

(B) What is group dynamism? Explain its necessary elements. (10)
OR

(A) Give m‘éaning of motivation and state the characteristics of motivation. (10)

(B) Discuss in detail the organization factors affecting the group. (10)

Make clear the meaning of managerial control. Describe its characteristics and guideline (15)
principles. :

OR
Discuss the types and techniques of managerial control. » (15)
What is manufacture? Discuss its detail characteristics. (15)
OR
What is services? Discuss its characteristics. (15)

o ok o 3k 3 ke ok ok e ok ok ok ok ok ok ok ok o ok o sk ok ok ok sk ok



647510

BCM2CI2C105x Seat No:
B.Com. Semester - 2 (CBCS) Examination
March/April -2019 (New Course)
Company Law-2 (CORE)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
ys-q Suell Adedlell cavan ], Aol 98, ctastdl uA §2°0 celal. (20)
Al '
ys-1 (W) dsteld : BR522 v AaAlFoL BRs22. (10)
(o) BRs2Aell §°A wguad. (10)
ys-2 () Suollefl vl Heelotel @AY ug@ agldl. (20)
(1) olltL cAvll: (i) stelauus vl (i) uoteliy (10)
Ul
ys-2  Suelloll Aot N2 27 Suclloll eol [QARQYU YstA A (20)
ys-3  gselltl Gull (Sleugl Q) (1)
(1 Aell mn  susll RB@R
(m  Suoll A ol§ (v)  Suell cuotdlell [Qeuat
yo-y  SUelloti stael UR o{lAotl 3 w41 UMl
() s [@.9)T (09)
(o) Aot 3o suel (@A (0¢)
yal
(o) DA Q. AAHA & Suell (09)
(o) Audt QR ds @A.25atss (0¢)

Que-1
Que-1

Que-2

Que-2
Que-3

Que-4

ENGLISH VERSION

Give definition of company secretary and describe his qualities, qualifications and duties.
OR

(A) Difference: Director V/S Managing Director.

(B) State the duties of directors.

(A) Describe different voting system in the company meeting.

(B) Write note on : (i) Quorum (ii) Minutes
OR

What is meeting of the company? Explain different types of company meeting.

Write short notes: (Any two)

) SEBI ()  Company Registrar

() Company Law Board (IV)  Ministry of company affairs
Explain the following case study on Company Law.
(A) Peek V/S Gurney

(B) Ashburry carriage co. V/S Riche

OR
(A) Salmon V/S Salmon & Co.
(B) Royal British Bank V/S Turquand
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547510

fime: 2:30 Hours

BCM2BE2C102x Seat No:
B.Com. Semester - 2 (CBCS) Examination
March/April -2019 (New Course)
Business Economics-2 (CORE)

Marks: 70
nstructions:
1. All questions are compulsory.
2. Figures to the right indicate marks,
Y- Yl eReE N2 97 Estouand A 2R AL Anden WAL (:0)
AUl
usi-1 Rl WA g2 gl Bud - Auielell yBa woud, (20)
Us-R RS BRAUS A wdl Aol el w2 3, (k0)
AUl
Ys-2  IRRIYSH SRSEHL BHd Auieell uBal wieadl, (20)
ys-3 QAR 1R URell el i 53, ()
AL
Ys-3 AEUSRAS BostRIHL vl HivRuitall Rlgtd dxendl. ()
yst-y Yol sR ISl caltll U lAER wRudl, (W)
AL
ys-y o 2selltl cul : (SlSurl A) (au)
(1) Sennell s wUA
(2) Gaweeot WL val QAULL WRlel vUE
(3) SonAYsel eR9Sal gl
(4) UCUSAS TosRell AEl
ENGLISH VERSION
Que-1  What is perfect competition? Explain the short term equilibrium of the firm and industries. 20)
OR
Que-1 ~ What is monopoly? Describe the process of price determination under monopoly. (20)
Que-2  Give the meaning of monopolistic competition and discuss its characteristics. (20)
OR
Que-2  Explain the process of price determination under the monopolistic competition. (20)
Que-3  Discuss the effects of selling cost on demand curve, (15)
OR
Que-3  Explain the theory of kinked demand curve in oligopoly. (15)
Que-4  Describe the characteristics and benefits of peg';:t competition. (15)
Que-4  Write Short note: (Any Two) (15)

(1) Economical effects of monopoly.

(2) Concepts of production and selling cost

(3) Contamination of monopolistic competition.
(4) Characteristics of oligopoly.
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m BCM2PssDS01A Seat No !
B.Com. Semaester - 2 (CBCS) Examination
March/April -2019 (New Course)
Personal Selling and Salesmanship -2 (DSC1)

Time: 2:30 Hours Marks: 70
Instructions:

1. All questions are compulsory.
2. Figures to the right indicate marks.

ysea Qe gRell el AU el AL AU ¢&e] Hee RICICR (20)
Al
ust-l - Auet gRell QAU ugld weadl. (20)
us?  (a) Quuel daetet Az g? el gl wHeadl. (10)
(o) Qe AAetell Auefl sl aga. (10)
yydl
ys-2  (2) QUEREN WU AHR 5cll URGAL Wxe el (10)
(o) Wweadl: Budeld (10)
us-3 () el ueolloll @R aglal. (0¢)
(o) Acietsll dlefln auuasl Q@ Ad wxeadl. (09)
AHudl
g3 (@) ‘el A andr AU AA8L5IRs ASIRL 8. weadl. (0¢)
(o) A=A Netteet wuclell @AY A aglal (09)
ys-y  AcUAAA HEeldly auctell QRY A uHesaAl. (W)
vUdl
ys-y () Wl Aot uR (A=A (0¢)
(61) oAl AGU Nl AU (09)
ENGLISH VERSION
Que-l Give the meaning and definition of sales promotion. Explain the significance of sales (20)
promotion.
OR
Que-1  Explain the various techniques of sales promotion. (20)
Que-2 (A) What is sales management? Explain the objectives of sales management. (10)
(B) Explain the Managerial functions of sales Management. (10)
OR
Que2  (A)Explain effected factors of sales force. (10)
; (B) Explain : Price Policy (10)
Que-3  (A) State in brief the selection process of the sales man. (08)
: (B) Explain different types of methods of salesman training. (07)
OR
Que-3  (A) “Training is an investment generating returns’ Explain. (08)
; (B) State the various methods used to motivate the salesman. (07)
Que-4  Explain the various compensation methods of providing to the salesman. (15)
OR
Que-4  (A) Explain: Controlling on Salesman. gg%

(B) Explain: Salesman’s Reports
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BCM2MatDS01B SeatNo:
B.Com. Semester - 2 (CBCS) Examination
March/April -2019 (New Course)
Business Mathematic-2 (DSC1)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
ys-1 () Bsuasetl [e GeleRul A vl (10)
() 2x2 el 3x3 RsuAS GELERL AR ol (10)
el
ust-1 (A)  BHRell A wllsrel GEel: (10)
9x+4y= 5xy, 15x-2y=4xy
(8) 3uRell dldall Guadal 531 G3c Anal (10)
X+y+2=6, 2X+y+2z=7, X+2y+z=8
us-2 (A) ollAett 52060 G3et caurd ARsel Heedl ol (10)
X+y+z=3, 2x-y-z=3, X-y+z=9
(8) catvall w) ; sl2ARlls, URAdARR(s, curdAells, usuicad AQls, (10)
A el
usi-2 (A) RA = [3 ;] U AB = [3 (1) A A ABls B A4 (10)
(B) R C-= [(1) “11] A CB = ‘31 }L A A ARs B M. (10)
TEE o{lActt ctetell B Anal. (S8ugl AaL) (15)
. x¥2-V3 ; x3-27
() lim =3 (@) lim 7=
5
5 2-1 14243440
), :5-1 #) lm s e
() tim, e
Ysl-4 Rl woprioteti Rgictell WA 5AF, =+ ~+ —+-+ n(n‘ﬂ) == (15)

A
WA Heptotoll Rictell A 5A3, 2 + 7 + 12 + ... +(5n = 3) = 262D
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Q-1 (A)
(8)

Q-1 (A)

(B)

Q-2 (A)

(B)

Q-2 (A)

(B)

ENGLISH VERSION

Write rules for determinant with examples.

Explain 2x2 and 3x3 Determinant with an examples.
OR

Solve the equation by creamer’s rule

9x+4y= 5xy, 15x-2y=4xy

Solve by creamer’s method.

Xty+z=6, 2x+y+z=7, x+2y+z=8

Solve the equation by Inverse matrix method.

Xty+z=3, 2x-y-z=3, X-y+z=9
Give definition: Row matrix, Transpose of a matrix, Inverse matrix, adjoint
OR
M1 1 _1 01 .. .
IfA= [7 2] and AB = [0 1], Find Matrix B

Matriy_

IfC= [(1) ‘11] and CB = [‘31 i]Find Matrix B

Find limit value (Any Three)

; x3-27
2) lim =—=<7_
X=>1 x-1 ( )x—>3 Vx+1-2

5
3) i x2-1 ) 14243+ 40
) xl—7>n1 x%—l “) nl-L—)mco (n+3) (n+4)

. x3-125
5) xli’ms Prr

Using mathematica] Induction prove that,
L.

—

1 1
tost =+ + L _ n
12 " 237 34 h n(n+1)  n4q

OR
Using Mathematica Induction prove that,

2+7+12+ +(5n - 3) = 25n-1)
2

**********************************
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b BCM2entDso24 Seat No
lw .Lom. Semester- 2 (CBCS) Examination

March/April -2019 (New Course)
Entrepreneurship-z (DSc2)

. 2p: 2:30 Hours
Time Marks: 70

Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

yg-a O AsHell 2euet UrieallA war s2qy u&mmaﬂ—uzﬂ 53, (0)
UYL

ys-4 AARS AR oltal wAleRgloll UR adous] Qs adl Q0@ s c8lof [AsAual 5. (20)

yg-2 L= GOl UR AR 5l @5 R 25l se UalaRgle] @QsAual 53, (20)
qYll

ysi-2 () HUL— GUOL UR AUMRSRL sBSLE 2ot uallazgle] @QsAue 53, (10)

(1) @22l gslagloll sauglui 6ot ws@sol st e, (10)

yi3 st - Uue@ 6oL usRsol gist wu (1)
AUl

ya-3 el - Ydds ddld 2@s Qsiuui 61 wis@sel (st aelq. (W)

ya-y  ARldUl Gl - WeRs el Ast stelsuoll Rece ul 53, ()
Byl

ya¥ ARl MEet G WaRsell w3dland uA U agldl, (1)

ENGLISH VERSION

Que-1  Discuss the factors affecting the plant location of an industrial unit. (20)

OR

Que-1  Analyse industrial opportunities resulting from the change in internal and external (20)

| environment.

Que-2  Analyse economic and technological environment affecting the business. (20)
OR

Que2  (A) Analyse competitive environment affecting business and industry. (10)

(B) Explain the role entrepreneur in increasing the income of Forex. (10)

- Que3  State the role of entrepreneur in export promotion. ' (15)
OR

Que-3  Examine entrepreneur role in economic development as an innovator. (15)

Que-4 * Discuss in detail entrepreneurship development programme in Gujarat. (15)
OR

(15)

- Que4  Describe the need and problems of women entrepreneurs in India.
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. BCM2eCmDS028
Seat No :
m B.Com. Semester - 2 (CBCS) Examination i

i March/April -2019 (New Course)
-Commerce & Use of RDBMS (MS-Access) (DSC2)

Time: 2:00 Hours
Marks:50

|nstructions:
1. All questions are compulsory.
2. Figuresto the right indicate marks.

B
——

gt olletl Yalletl walol cull.
. MS Access ol 2ewsey aeldl. o
2. 32182 (3A2 sclloll RV agldl,
uYell
g1 olletl Yslletl sellol Al (14)

. RDBMS (A2l ot vl
2. 32lAg el AN aotell Bat asldl.
ys-2  olletl walell wealol vl
q. ytaHdl 41, 818l Sl wal s1llofle $l of Ut UMeadl.
2. 51385 wUd2 uA s13s Slelle WA WRe2llact Sodlofldl el
Al

(12)

ya-z  olletl Yalotl walol Gull, (12)

q. 2oictell d2telle 2 U Bosieot ) uHtCl
2 3218 Mol (Besell Wudlss wsgucl Auiel fgugt AgL agldl.

ya-3 ol el yslloll wellol AUl
q. Asalet 5A3otl Ysi gsui agldl.
2. 5ol MUl aglal.

(12)

ZUC
(12)

ya-3  oflAettell o0l s2A.
q. 23l Halell ysR aglal.
2. Aladol 53] U 8185 53 adll.

Usti-4 ol Aot YMott wellot vl (12)
1. oldNez g ollosAal GEleRQL WA Ul

2. AN - 5Ll uR ollu cvll.

Al
(12)

us-4 ool yslloll wellot Avll.
1. @osa g 5e0sHR GELERQL WA Al

2. 6 - 501 U Y Ul
**********************************
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Que-1

Que-1

Que-2

Que-2

Que-3

Que-3

Que-4

ENGLISH VERSION

Write answer of the following questions.

1. Describes objects of MS Access.
2. Describes the steps for creating database.
OR
Write answer of the following questions.
1. Writes note about RDBMS
2. Describes process of navigating database.
Write answer of the following questions.
1. Explain importance of primary key, foreign key and composite key
2. Explain cascade update and cascade delete with referential integrity
OR
Write answer of the following questions.

1. Explain datasheet view and design view of table,
2. Give list of fields properties of database and describes any three form them
Write answer of the following questions,
1. Describes types of action query in short.
2. Describes properties of form

OR
Write answer of the following questions.

1. Describes types of auto form

2. Describes cross tah query and find query
Write answer of the following questions.

1. Explain Government to business with example

2. Writes note about M—Commerce

OR

Que-4  Write answer of the following Questions,

1. Explain business to consumer

with example

2. Writes note aboyt E-Commerce

**********************************
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m BCM2accE101A Seat No :
B.Com. Semester - 2 (CBCS) Examination
March/April -2019 (New Course)
Accounting -2 (ELECT IVE)

ne: 2:30 Hours Marks: 70
tructions:

All questions are compulsory.

Figures to the right indicate marks.

e ———

et ol AR [ wRl cl.31-3-18 ott A Y21 et o] 30 2ewous u2cte] M@ v dar  (20)
5.

(@atd U 3. Qotet B 3.
23 25 (1-4-2017) 1l 5,000
ULR 5,000 2520 Al 5,00
Qargl 3,000 10%:l  westdl  selloll | 10,000
@Alot(cll.1-10-17)
Gell Wis 1,000 oot HYE 200
alR aluR 5,000 | 14,000 | <l VIR
wilel: Cows 50
WldR 1,000 | RERE 100 150
@auRet 1,500 QAL
scollals Ecll 2,000 Uy 5,000
3R 3R 2,000 6,500 Al 2,000
als sciloll Wl 2,000 © A 8,000
G 10,000 | 25,000
atRuell Bl

(1) AR W5 (cll.31-3-18) Ul 3 500, [AAREL 3 1,500 AA &R BLUR 3 6,000
(2) 3. 200 ofl BGHclo] U Wellotl AR BluRA Wastaal Gdct B.

(3) ol curial W2 QA 2ot : €6 3 500 Btel AL 3 300

(4) wdlei UA .uoﬁ% 3 1,000

(5) cts sclloll Wl ey ciui Hisl ctoelsll 8.

AUl
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YaA-3

YUH-3

YAd-¥

Udlotl 4 oy 3. 28,000 a5
Beatl 2 ay 3. 30,000 oy
(3) RABL 8] of5 90 @ 83 A A yehloy 2 A 1Y A 9519,

4) AL U .
(4) U me U §Sclletol Bl Raed) AYAM oSt 52l el Ao A A ail
AU g 257 walsq,

(5) Becll 4 o] Gewgoy ol 46l g,

CU 2004 2005

2006 2007
GeUlEet (201ny))

10,000 8,000(A5) 5,000(&5dlA) 7,500
(6) dl.1-1-02 oll Ay Wesy Sl Wiettoll ol o 6cll, 2002 ot i £2(alot AUl 51
3.8,000 Ao 2003011 oy el WG 514 6,000 4 &d.

GuRell Qo1 w2el WRL A vtz Qusiui (1) Aeedl uig, (2) Al s
BBt (3) A AWUotiRe] wiig Qur? 531

WHELAIE caelge Ren @. 3. 1,000 UWEREIY 3.30,00,000 olt Wil oivll ocdl. 2008l

(15)

MR WAl §UollR ool WeRep WSl 507 weRepa, oell weRepaoll Md U Azelell ,

YA Quidoll Budt s2el, 100% ataweld Bud UECl ool UR oudloll ustll AN s
ARG 3.50,00,000 ot WA otull, 2 Guaiq cAtRlell Hiddl uQA cna SusllR
AtRlell 250 AN Uctepat ysedla Ssell
%ol wecll R wazepat A2 otuic 3 10,00,000 GuL.
GURell cAct@lA ol M2 %38 LAY, vl w Wl Usl 344l uwtd w39l wid 32l
Wl el A el

Ul
dl. Wl ldllAet suoll 3.25,00,000 ot W A5 Aort ol D, decus axl wed] el
Aol /e ol Fecll autziell ASeU 3. 7,50,000 ot Wl oitvll, AQ el A 3.
35,00,000 ol W lecl Al uHYU ERMA HAUMIot §UA 2yl wlul 20760 b3l L2l
el HEUHeatoll QAR 3.40,000 Guell B. 3.50,00000 6l ULEAULMLoL ooll Ao
HeEl ol AR ASUH AURAAAQ B, Aues el Aouni 3.25,00000 (ol HIGUHLol
auRiAl 8.
GURell sl ofltal %33 Aol AWll, Al GURid GUAS Wi, 48wl A 13yl wal
a2 58 A afwd A 56l AR eald.
sl St Gt 1-1-13 ot A% eUdl vile uglAA 4 AN wdZ B UA 3.12,000 Aol Aluell
crd yYseal. oltsloll 54 AQ €2 a¥ 31-12 olt A Ass BHd UR 10% AN calley Rl 4

Ul yscll.
Al eUcll Y

31-12-13  yuH &Udl 25,600
31-12-14 ol sudl 19,600
31-12-15  All sudl 14,000
31-12-16 AN sUA 8,800
tecl ol ctfloll A 107 AN AR o1L.
GuRell HRA wrell Sot artulstl Wusini
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[uitg| dleite Ael

NEL
LGl
1o Lol e et ualdal 310,000 uf wg,
|ill wlh Al ul "lﬂq A

1) \é\\‘\n‘.‘ “““ \ 1)

\‘\ e LIS

RRRUEL W

aey MR ~‘\W'“ i el
il o8 ALRA it R | 2,000
FRIERLAL A urol mu,ﬂ 4,000
LAt el i ol prdl 2,000
Al Areae e awi Al euedl 2,000
Al Reell Qg Bt Q00 . dl.l qe Guz “{‘:"a :{[‘lg[lz"ﬂ Aq s 107 &g
: \ ool ated d g e Gueoll 2@l w2 "?Wll Alysiayg
:::{l‘\: {\{m\\h{ wiel (2) Qe vt i 31-12-2015 ot Agell WA SR ealq)
jj‘.]ﬂ(-'l;lSll VIERSION
Que-1 From the following fnformation prepare (ho farm account of Mr. Devabhai Patel for the yeq,
ended 31 March, 2018, B
[ T Tarticular T R, Particular Rs.
E&]\ll@&(l)t Ijm, —7 | Labour work 5,000
Fertilizers 5,000 Rent of tractor 500
Sceds 3,000 10% Co-op.Loan (Dt.1-10-17) | 10,000
Standing crop 1,000 Land Revenue 200
Cattle 5,000 [ 14,000 | Insurance Premium:
Purchases: Crop 50
Fertilizers 1,000 ' Cattle 100 150
Seeds 1,500 Sales:
Medicine 2,000 Grass 5,000
Cattle 2,000 6,500 Milk 2,000
Cost of fence 2,000 Rice 8,000
Wheat - 10,000 | 25,000

Additional information:
(1) Closing stock: (dt..31-3-18) Fertilizer Rs. 500, Seeds Rs. 1,500 and Cattle Rs.6,000
(2) Cultivated grass of Rs. 200 for feeding own cattle =

(3) Take wheat of Rs. 500 and Rice Rs. 300 for personal use
(4) Gave a donation corn Rs. 1,000 |

(5) The cost of fence to be abolished within ten years

OR

Page 4 of g
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as on 01-01-2002. In the year 2002 the gy,
king

0
2003 it is Rs. 6,000. Ung o,

f short wor
e is no balance 0 ;1o vear :
6) "lf'hc,; working is Rs. 8,000 :md.mthe b}ooks £ Prufhyi ltd
o
;]:p’!re (he following account 1 Rent Account (3) Land load Account
| (& 025

2) Minimum looms at
(1) Royalty Accogﬂt (-)'] Itd. established 1,009 power [o : t'he C(?St AR,
Ahmadabad Textiles mils % power looms of similar pattern and kinq With 109 0/' (
¢ . () ()

C laced 50 F maining power looms Ccom
000. Company has rep A 2008. For rer i Pany |
'30,2?1’56 in cost in the month of farci e cost of Rs.50,00,000. To meet the in "
mnc

. o ms at th .
decided to install automatic pow (.'r lo(;l " Jditiona] 250 automatic power looms,
demand, company also decides to insta old power looms, which are Supersedeq

00 from selling . ch al .
il E",Cts - mc’i(')t(l);?e and revenue expenditure. And also give journg] entries,
Divide capital expendi o | )

he P.G.V.C.L. company laid down a main at a cost of Rs. 25,00,000 A fouy -
The P.G.V.C.L. ;

Que-3

Que-3 wpany laid down an auxiliary main for 1/5 of the length of the. old majy, for
later, the compsa )’] d the rest of the old main at a cost of Rs.35,00,000. Du.nng this Periog
Rs.7,50,0?0 ar:dr;:lpqi‘fwages laying mains has increase by 20%. Rs. 40,000 js repl.aced from
ttl}:: sc:litc?f or;}; nemter‘ials and old materials of the va.l ue of Rs. D()z,(S)OOOOga;Z‘:)eee&used in th.e new
main which replaced old main, while old materials of Rs. 25, €N used in g,

auxiliary main. The value of old materials used in the new mains has not beep includeq j,

above mentioned cost. .
Pass necessary journal entries to record the above transactions. Show how would yoy allocate

the expenditure between capital and revenue. . '
Shri Don Brothers purchased a four machine on installment system on 1-1-13, e paid (15

Que-4 ' . . .
Rs. 12,000 as in initial payment. Remaining amount is to be paid on cash price + 10% intereg

every year in four installment.
l_ Date Installment Amount
| 31-12-2013 | First installment 25,600
31-12-2014 | Second installment 19,600
5-12-2015 Third installment 14,000
ul-12-2016 Fourth installment 8,8%

Depreciation is to be calculated @ 10% per annum with diminish balance method.

Prepare following account in the book of Don Brothers,
(1) Machine A/c (2) Interest A/c (3) Seller A/c
, OR
Que-4  On 01-04-2013 Hiral purchased T.V. Sets from Dhara on installment system for Rs. 10,000
with the following payment system.
At the time of contract 2,000 Rs.
First installment on Dated 31-3-2014 4,000 Rs.
Second installment on Dated 31-3-2015 2,000 Rs.
Third installment on Dated 31-3-201 6 2,000 Rs.
~ The cash price of T.V. Set is Rs 8,600. Depreciation is to be calculated @ 10% per
annum with diminish baance method. Accounting year is completed as on 31-03.
Prepare following account i the book of Hira],
(1 ;\;2 Sze(t);‘\s/c (2) Seller’s A/c and show the'nccessary entry on balance sheet as on

*f*************************
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Time: 2:00 Hours Marks: 00

Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

[ S 7] o\“U)

yst-1 ollQell sclled AUl (12)
(A) if....else...endif of Nesting UM,
(o1) goto label ([Atllel UM AQ
Ul
(A) switch() @Qttot AnAA.
(o) for() of Nesting A1,

Ya-2  oflAetl ol cull. (aR)
(A) Array g 87 doll YsIA UMl
(e1) Al Woarmi ARRAY of ls@2ot ¥l AR 53 sl
Ul
() ONE DIMENSION ARRAY ofl Gulat 31 24slyel Woans cvl.
(¢1) TWO DIMENSION ARRAY ofl GU2llaL 531a elyel Mot cu.

15

ys-3  oflAell welot Al (1?)
ollAell §5Uot UMM
pow(), abs(), islower(), sqrt(), ceil(), floor()
uYal
ol Aetl §5Uet ML

strlen(), strepy(), strupr(), strir(), strrev(), tolower().

us-¥  ollAotl welol cull. (1?)
() YAR SISLEAS $5ot UR gsalltl CLUAl,
(61) YR Slstfals §siotoll GuNDL 531 welyel Wanst e,
Ul
(A) oll UR[Ac2-oll 2ol AR) YsIRe] YR NSNS 5ol WL
(6) URjAez-oll 2ol AR YslRe] YR NHSTAS G50t M
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English Version

Answer the following questions. (14
(A) Explain Nesting of if....else....endif.
(B) Explain goto labe] statcmet,
OR
(A) Explain switch() statement,
(B) Explain nesting of for().
Answer the following questions.

(12)
(A) What is Array? Explain types of its.

(B) How to declare an Array in C programme.

t
OR

aningful program with use of ONE DIMENSION Array., !

(B) Write a meaningful program with use of TWQ DIMENSION Array.

(A) Write a me

Answer the following questions. (12)
Explain following functions.
pow(), abs(), islower(), sqrt(), ceil(), floor()

OR y
Explain following functions.

strlen(), strepy(), strupr(), strir(), strrev(), tolower().

§

Answer the following questions. (12)

(A) Write note on user defined FUNCTION.

(B) Write a meaningful programme with the use of User Defj
OR

(A) Explain No argument — No return value type user defined function.

ned Function.

(B) Explain argument — No return value type user defined function.

oK 3 sk ok ok ok e s ok sk ok ok sk s sk ok ok
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